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Exercise

1. Find the Perimeter of each of the following figures:

(a) 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hVKHLqepbKwT


Watch Video Solution

2. Find the Perimeter of each of the following figures:

(b) 

https://dl.doubtnut.com/l/_hVKHLqepbKwT
https://dl.doubtnut.com/l/_TGl1u3roo6nW


Watch Video Solution

3. Find the Perimeter of each of the following figures: (

c) 

https://dl.doubtnut.com/l/_TGl1u3roo6nW
https://dl.doubtnut.com/l/_ZKshENdoR2ly


Watch Video Solution

4. Find the Perimeter of each of the following figures:

(d) 

https://dl.doubtnut.com/l/_ZKshENdoR2ly
https://dl.doubtnut.com/l/_6a6CpilVYWbN


Watch Video Solution

5. Find the Perimeter of each of the following figures:

(e) 

Regular Closed Figures Figures having all the sides

of equal length and all the angles of equal measure

are known as regular closed figures. Therefore a

square and an equilateral triangle are regular closed

figures. Problem: Find the perimeter of each of ...

Watch Video Solution

https://dl.doubtnut.com/l/_6a6CpilVYWbN
https://dl.doubtnut.com/l/_X6J9IwS5WYV6


6. The lid of a rectangular box of sides 40 cm by 10 cm

is sealed all round with tape. What is the length of the

tape requied?

Watch Video Solution

7. A table-top measures 2 m 25 cm by 1 m 50 cm. What

is the perimeter of the table-top?

Watch Video Solution

8. What is the length of the wooden stirp required to

frame a photograph of length and breadth 32 cm and

https://dl.doubtnut.com/l/_PXK9w1YIaIZf
https://dl.doubtnut.com/l/_hcD5v6Pb4atT
https://dl.doubtnut.com/l/_5oMphFdvpFfL


21 cm respectively?

Watch Video Solution

9. A rectangular piece of land measures 0.7 km by 0.5

km. Each side is to be fenced with 4 rows of wires.

What is the length of the wire needed?

Watch Video Solution

10. Find the perimeter of each of the following shapes:

(a) A triangle of sides 3 cm, 4 cm and 5 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_5oMphFdvpFfL
https://dl.doubtnut.com/l/_d5RIMS6qZmxn
https://dl.doubtnut.com/l/_awgicohM15vo


11. Find the perimeter of each of the following shapes:

(b) An equilateral triangle of side 9 cm.

Watch Video Solution

12. Find the perimeter of each of the following shapes:

( c) An issosceles triangle with equal sides 8 cm each

and third side 6 cm.

Watch Video Solution

13. Find the perimeter of a triangle with sides

measuring 10 cm, 14 cm and 15 cm.

https://dl.doubtnut.com/l/_cxoILPOkDVte
https://dl.doubtnut.com/l/_mmhiE68oY9LN
https://dl.doubtnut.com/l/_9hTgxxJZ6NAm


Watch Video Solution

14. Find the perimeter of a regualr hexagon with each

side neasuring 8 m.

Watch Video Solution

15. Find the side of the square whose perimeter is

20m.

Watch Video Solution

https://dl.doubtnut.com/l/_9hTgxxJZ6NAm
https://dl.doubtnut.com/l/_ynYZbMnAQWWu
https://dl.doubtnut.com/l/_b81pWcGof1HE


16. The perimeter of a regular pentagon is 100 cm.

How long is its each side?

Watch Video Solution

17. A piece of string is 30 cm long. What will be the

length of each side if the string is used to form: (a) a

square?

Watch Video Solution

18. A piece of string is 30 cm long. What will be the

length of each side if the string is used to form: (b) an

https://dl.doubtnut.com/l/_8K2rOoAAKa3J
https://dl.doubtnut.com/l/_7eFfQqi4B0eK
https://dl.doubtnut.com/l/_srA0Cr5Eqqmo


equailateral triangle?

Watch Video Solution

19. A piece of string is 30 cm long. What will be the

length of each side if the string is used to form: ( c) a

regular hexagon?

Watch Video Solution

20. Two sides of a triangle are 12 cm and 14 cm. The

perimeter of the triangle is 36 cm. What is its third

side?

Watch Video Solution

https://dl.doubtnut.com/l/_srA0Cr5Eqqmo
https://dl.doubtnut.com/l/_CWKt1x8EGAMv
https://dl.doubtnut.com/l/_upj6QnOu5Sl2


21. Find the cost of fencing a square park of side 250

m at the rate of ₹ 20 per metre.

Watch Video Solution

22. Find the cost of fencing a rectangular park of

length 175 m and breadth 125 m at the rate of ₹ 12 per

metre.

Watch Video Solution

https://dl.doubtnut.com/l/_upj6QnOu5Sl2
https://dl.doubtnut.com/l/_OISvX2MLc8Av
https://dl.doubtnut.com/l/_qDRSsjnghL9l


23. Sweety runs around a square park of side 75m.

Bulbul runs around a rectangular park with length 60

m and breadth 45. Who covers less distance?

Watch Video Solution

24. What is the perimeter of each of the following

figures? What do you infer from the answers? (a) 

q16-what-is-the-perimeter-of-e | LIDO

Watch Video Solution

https://dl.doubtnut.com/l/_sExvx8hHv197
https://dl.doubtnut.com/l/_FTrU6ygV0RWQ


25. What is the perimeter of each of the following

figures? What do you infer from the answers? (b) 

Watch Video Solution

26. What is the perimeter of each of the following

figures? What do you infer from the answers? ( c) 

https://dl.doubtnut.com/l/_C7KKURJFWcjl
https://dl.doubtnut.com/l/_Y0oeVyMfPv75


Watch Video Solution

27. What is the perimeter of each of the following

figures? What do you infer from the answers? (d) 

q16-what-is-the-perimeter-of-e | LIDO

Watch Video Solution

https://dl.doubtnut.com/l/_Y0oeVyMfPv75
https://dl.doubtnut.com/l/_LkpC02Ddhv3J


28. Avneet buys 9 square paving slabs, each with a side

of 1/2 m. He lays them in thr form of a square. 

(a) What is the permeter of his arrangement [ Fig

10.7(i)]?

Watch Video Solution

https://dl.doubtnut.com/l/_h1nDGol5ozi7
https://dl.doubtnut.com/l/_cRiAo3CTsitw


29. Avneet buys 9 square paving slabs, each with a side

of 1/2 m. He lays them in thr form of a square. 

(b) Shari does not like his arrangement. She gets him

to lay them out like a corss. What is the perimeter of

her arrangement [(Fig 10.7(ii)]?


Watch Video Solution

https://dl.doubtnut.com/l/_cRiAo3CTsitw


30. Avneet buys 9 square paving slabs, each with a side

of 1/2 m. He lays them in thr form of a square. 

( c) Which has greater perimeter? 

Watch Video Solution

https://dl.doubtnut.com/l/_xbSpi3VNaYbC


31. Avneet buys 9 square paving slabs, each with a side

of 1/2 m. He lays them in thr form of a square. 

(d) Avneet wonders if there is a way of getting an even

greater perimeter. Can you find a way of doing this ?

(The paving slabs must meet along complete edges i.e.

they cannot be broken.) 

Watch Video Solution

https://dl.doubtnut.com/l/_E9qRCQO4BT4z


32. Find the areas of the following figures by counting

square: 

(a),(b),( c), (d), (e), (f), (g), (h), (i), (j), (k), (l),(m),(n)

https://dl.doubtnut.com/l/_E9qRCQO4BT4z
https://dl.doubtnut.com/l/_ozhc4su9qI74


Watch Video Solution

33. Find the areas of the rectangles whose sides are :

(a) 3 cm and 4 cm

Watch Video Solution

34. Find the areas of the rectangles whose sides are :

(b) 12m and 21 m

Watch Video Solution

https://dl.doubtnut.com/l/_ozhc4su9qI74
https://dl.doubtnut.com/l/_yBAyrToQe5Xn
https://dl.doubtnut.com/l/_j38oASAS82lJ


35. Find the areas of the rectangles whose sides are : (

c) 2 km and 3km

Watch Video Solution

36. Find the areas of the rectangles whose sides are :

(d) 2m amd 70 cm

Watch Video Solution

37. Find the areas of the squares whose sides are : ( a)

10 cm

Watch Video Solution

https://dl.doubtnut.com/l/_gCM669kml8zF
https://dl.doubtnut.com/l/_TrgOoH3eDHDs
https://dl.doubtnut.com/l/_GqH0s1DK7V28


38. Find the areas of the squares whose sides are : ( b)

14 cm

Watch Video Solution

39. Find the areas of the squares whose sides are : ( c )

5 cm

Watch Video Solution

40. The length and breadth of rectangle is as given

below : (a) 9m and 6 m Find the area.

https://dl.doubtnut.com/l/_GqH0s1DK7V28
https://dl.doubtnut.com/l/_1jD6adDZQKJA
https://dl.doubtnut.com/l/_8Jlu8Gc8zWfz
https://dl.doubtnut.com/l/_f2xuQoyhJZu6


Watch Video Solution

41. The length and breadth of rectangle is as given

below : (b) 17m and 3 m Find the area.

Watch Video Solution

42. The length and breadth of three rectangles are as

given below : (c) 4m and 14 m Which one has largest

area and which one has the smallest ?

Watch Video Solution

https://dl.doubtnut.com/l/_f2xuQoyhJZu6
https://dl.doubtnut.com/l/_aBfdW1xSp1cS
https://dl.doubtnut.com/l/_ifd4xeC6kWFi


43. The area of a rectangular garden 50 m long is 300

sq m. Find the width of the garden.

Watch Video Solution

44. What is the cost of tilling a rectangular plot of

land 500 m long and 200 m wide at the rate of ₹ 8 per

humdred sq m. ?

Watch Video Solution

45. A table-top measurs 2 m by 1 m 50 cm. What is its

area in square metrea ?

https://dl.doubtnut.com/l/_84rpPcP7aWVT
https://dl.doubtnut.com/l/_ngoqDGeV9xay
https://dl.doubtnut.com/l/_o8X2mlyghZL7


Watch Video Solution

46. A room is 4 m long and 3 m 50 cm wide. How many

square metres of carpet is needed to cover the floor

of the room?

Watch Video Solution

47. A floor is 5 m long and 4 m wide. A square carpet

of sides 3 m is laid on the floor. Find the area of the

flor that is not carpeted.

Watch Video Solution

https://dl.doubtnut.com/l/_o8X2mlyghZL7
https://dl.doubtnut.com/l/_OTwFmCnMzFJh
https://dl.doubtnut.com/l/_24wFpFYWgtaD
https://dl.doubtnut.com/l/_NilIGQJ3Birr


48. Five square flower beds each of sides 1 m are dug

on a piece of land 5 m long and 4 m wide. What is the

area of the remaining part of the land?

Watch Video Solution

49. By splitting the following figures into rectangles,

find their areas (The measures are given in

https://dl.doubtnut.com/l/_NilIGQJ3Birr
https://dl.doubtnut.com/l/_EGHrgyeXfR4F


centimetres). 

 (a)

Watch Video Solution

https://dl.doubtnut.com/l/_EGHrgyeXfR4F


50. By splitting the following figures into rectangles,

find their areas (The measures are given in

centimetres). 




Watch Video Solution

51. Split the following shapes into rectangles and find

their areas. (The measures are given in centimetres)

https://dl.doubtnut.com/l/_3yU32WzZBq89
https://dl.doubtnut.com/l/_iQIX20WAxC7Q


(a) 

Watch Video Solution

52. Split the following shapes into rectangles and find

their areas. (The measures are given in centimetres) 

https://dl.doubtnut.com/l/_iQIX20WAxC7Q
https://dl.doubtnut.com/l/_nDHJPFzCLIuw


Watch Video Solution

53. Split the following shapes into rectangles and find

their areas. (The measures are given in centimetres) (c

https://dl.doubtnut.com/l/_nDHJPFzCLIuw
https://dl.doubtnut.com/l/_gpT48nlJO9hI


) 

Watch Video Solution

54. How many tiles whose length and breadth are 12

cm and 5 cm respectively will be needed to fit in a

https://dl.doubtnut.com/l/_gpT48nlJO9hI
https://dl.doubtnut.com/l/_MN0XG0Zw7Nzi


rectangular region whose length and breath are

respectively: (a) 100 cm and 144 cm

Watch Video Solution

55. How many tiles whose length and breadth are 12

cm and 5 cm respectively will be needed to fit in a

rectangular region whose length and breath are

respectively: (b) 70 cm and 36 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_MN0XG0Zw7Nzi
https://dl.doubtnut.com/l/_TH4LO3Bc6qQ0

